(3s.) v. 361 (2018): 25-36.<br>(3s.) v. 361 (2018): 25-36 ISSN-00378712 IN PRESS<br>doi:10.5269/bspm.v36i1.30822

# Some Identities Involving Multiplicative Generalized Derivations in Prime and Semiprime Rings* 

Basudeb Dhara and Muzibur Rahman Mozumder


#### Abstract

Let $R$ be a ring with center $Z(R)$. A mapping $F: R \rightarrow R$ is called a multiplicative generalized derivation, if $F(x y)=F(x) y+x g(y)$ is fulfilled for all $x, y \in R$, where $g: R \rightarrow R$ is a derivation. In the present paper, our main object is to study the situations: (1) $F(x y)-F(x) F(y) \in Z(R)$, (2) $F(x y)+F(x) F(y) \in Z(R)$, (3) $F(x y)-F(y) F(x) \in Z(R)$, (4) $F(x y)+F(y) F(x) \in Z(R)$, (5) $F(x y)-g(y) F(x) \in$ $Z(R)$; for all $x, y$ in some suitable subset of $R$.


Key Words: Semiprime ring, derivation, generalized derivation, multiplicative generalized derivation.

## Contents

## 1 Introduction

2 Preliminaries

## 1. Introduction

Let $R$ be an associative ring with center $Z(R)$. For $x, y \in R,[x, y]$ stands for the commutator element $x y-y x$. Recall that a ring $R$ is called prime, if for any $a, b \in R, a R b=(0)$ implies that either $a=0$ or $b=0$ and is called semiprime if for any $a \in R, a R a=(0)$ implies $a=0$. An additive mapping $d: R \rightarrow R$ is called a derivation, if $d(x y)=d(x) y+x d(y)$ holds for all $x, y \in R$. An additive mapping $F: R \rightarrow R$ is called a generalized derivation of $R$, if there exists a derivation $d: R \rightarrow R$ such that $F(x y)=F(x) y+x d(y)$ holds for any $x, y \in R$. If $d=0$, then $F$ is said to be a left centralizer map of $R$. The notion of generalized derivation was introduced by Brešar [5].

It is natural to investigate the above mappings without assumption of additivity condition. A mapping $D: R \rightarrow R$ (not necessarily additive) which satisfies $D(x y)=D(x) y+x D(y)$ for all $x, y \in R$ is called a multiplicative derivation of $R$. Daif [9] introduced the concept of multiplicative derivations and it was motivated by the work of Martindale [16]. Then Daif and Tammam-El-Sayiad [8] introduced

[^0]the notion of the multiplicative generalized derivation. The multiplicative generalized derivation of a ring $R$ is a mapping $g: R \rightarrow R$ such that $g(x y)=g(x) y+x d(y)$, for all $x, y \in R$, where $d$ is a derivation of $R$. Of course the mapping $g$ is not necessarily additive. Thus multiplicative generalized derivations are the large number of maps containing derivations, generalized derivations and left multiplier maps etc. One can find an example of multiplicative generalized derivation, which is neither a derivation, nor a generalized derivation.

Example 1.1 Let $R=\left(\begin{array}{ccc}0 & G F(2) & G F(2) \\ 0 & 0 & G F(2) \\ 0 & 0 & 0\end{array}\right)$. Define the mappings $d$ and
$F: R \longrightarrow R$ as follows: $d\left(\begin{array}{ccc}0 & a & b \\ 0 & 0 & c \\ 0 & 0 & 0\end{array}\right)=\left(\begin{array}{ccc}0 & 0 & b \\ 0 & 0 & c \\ 0 & 0 & 0\end{array}\right)$ and $F\left(\begin{array}{ccc}0 & a & b \\ 0 & 0 & c \\ 0 & 0 & 0\end{array}\right)=$ $\left(\begin{array}{ccc}0 & a & 0 \\ 0 & 0 & a c^{2} \\ 0 & 0 & 0\end{array}\right)$. Then it is straightforward to verify that $d$ is a derivation in $R$ and $F$ is not additive map in $R$ such that $F(x y)=F(x) y+x d(y)$ holds for all $x, y \in R$. Hence, $F$ is a multiplicative generalized derivation associated with a derivation $d$, but $F$ is not a generalized derivation of $R$.

Let $S$ be a nonempty subset of a ring $R$. The mapping $F: R \rightarrow R$ is said to be a homomorphism (anti-homomorphism) acting on $S$, if $F(x y)=F(x) F(y)$ holds for all $x, y \in S$ (respectively $F(x y)=F(y) F(x)$ holds for all $x, y \in S$ ).

In [3], Bell and Kappe showed that if a derivation $d$ of a prime ring $R$ can act as homomorphism or anti-homomorphism on a nonzero right ideal of $R$, then $d=0$ on $R$. Then Ali, Rehman and Ali in [2] proved a similar result to Lie ideal case. They proved that if $R$ is a 2 -torsion free prime ring, $L$ a nonzero Lie ideal of $R$ such that $u^{2} \in L$ for all $u \in L$ and $d$ acts as a homomorphism or anti-homomorphism on $L$, then either $d=0$ or $L \subseteq Z(R)$.

On the other hand, the authors developed above results, replacing the derivation $d$ with a generalized derivation $F$ of $R$. In this view, Rehman [17] proved the following:

Let $R$ be a 2-torsion free prime ring and $I$ be a nonzero ideal of $R$. Suppose $F: R \rightarrow R$ is a nonzero generalized derivation with $d$.
(i) If $F$ acts as a homomorphism on $I$ and if $d \neq 0$, then $R$ is commutative.
(ii) If $F$ acts as an anti-homomorphism on $I$ and if $d \neq 0$, then $R$ is commutative.

Recently, in [12] the first author of this article has studied the situations, when a generalized derivation $F$ of a semiprime ring $R$ acts as homomorphism or antihomomorphism in a nonzero left ideal of $R$.

From above results, it is natural to consider the situations, when the generalized derivations $F$ satisfy the identities: (1) $F(x y)-F(x) F(y) \in Z(R)$, (2) $F(x y)+$ $F(x) F(y) \in Z(R),(3) F(x y)-F(y) F(x) \in Z(R),(4) F(x y)+F(y) F(x) \in Z(R) ;$ for all $x, y$ in some suitable subset of $R$.

Albas [1] studied the above mentioned identities in prime rings. Albas proved
the following theorems:

Theorem 1. Let $R$ be a prime ring with center $Z(R)$ and $I$ be a nonzero ideal of $R$. If $R$ admits a nonzero generalized derivation $F$ of $R$, with associated derivation $d$ such that $F(x y)-F(x) F(y) \in Z(R)$ or $F(x y)+F(x) F(y) \in Z(R)$ for all $x, y \in I$, then either $R$ is commutative or $F=I_{i d}$ or $F=-I_{i d}$, where $I_{i d}$ denotes the identity map of the ring $R$.

Theorem 2. Let $R$ be a prime ring with center $Z(R)$ and $I$ be a nonzero ideal of $R$. If $R$ admits a nonzero generalized derivation $F$ of $R$, with associated derivationd such that $F(x y)-F(y) F(x) \in Z(R)$ or $F(x y)+F(y) F(x) \in Z(R)$ for all $x, y \in I$, then $R$ is commutative.

Recently, in [11], Dhara et al. studied these situations of Albas [1] in semiprime rings.

In the present paper, our main object is to investigate the cases when a multiplicative generalized derivation $F$ satisfies the identities: (1) $F(x y)-F(x) F(y) \in$ $Z(R),(2) F(x y)+F(x) F(y) \in Z(R)$, (3) $F(x y)-F(y) F(x) \in Z(R)$, (4) $F(x y)+$ $F(y) F(x) \in Z(R),(5) F(x y)-g(y) F(x) \in Z(R)$; for all $x, y$ in some suitable subset of $R$.

## 2. Preliminaries

Following results are needed for the proof of our main results.
Lemma 2.1. ([14, Lemma 1.1.5] or [6, Lemma 2]) (a) If $R$ is a semiprime ring, the center of a nonzero one-sided ideal is contained in the center of $R$; in particular, any commutative one-sided ideal is contained in the center of $R$.
(b) If $R$ is a prime ring with a nonzero central ideal, then $R$ must be commutative.

Lemma 2.2. ([4, Theorem 3]) Let $R$ be a semiprime ring and $U$ a nonzero left ideal of $R$. If $R$ admits a derivation $d$ which is nonzero on $U$ and centralizing on $U$, then $R$ contains a nonzero central ideal.

Lemma 2.3. ([7, Lemma 2]) If $R$ is prime with a nonzero central ideal, then $R$ is commutative.

Lemma 2.4. ([4, Theorem 4]) Let $R$ be a prime ring and $I$ be a nonzero left ideal of $R$. If $R$ admits a nonzero derivation $d$ which is centralizing on $I$, then $R$ is commutative.

Lemma 2.5. ([15, Theorem 2 (ii)]) Let $R$ be a noncommutative prime ring with extended centroid $C, \lambda$ a nonzero left ideal of $R$ and $p, q, r, k$ are fixed positive integers. If $d$ is a derivation of $R$ such that $x^{p}\left[d\left(x^{q}\right), x^{r}\right]_{k}=0$ for all $x \in \lambda$, then either $d=a d(b)$ and $\lambda b=(0)$ for some $b \in Q$ or $\lambda[\lambda, \lambda]=(0)$ and $d(\lambda) \subseteq \lambda C$.

Lemma 2.6. ([13, Fact-4]) Let $R$ be a semiprime ring, $d$ a nonzero derivation of $R$ such that $x[[d(x), x], x]=0$ for all $x \in R$. Then $d$ maps $R$ into its center.

Lemma 2.7. ([10, Lemma 2.4]) If $R$ is a prime ring, $d: R \rightarrow R$ a derivation of $R, I$ a nonzero left ideal of $R$ and $0 \neq a \in R$ such that $[a d(x), x]=0$ for all $x \in I$, then one of the following holds : (1) $a \in Z(R)$; (2) $I a=(0)$; (3) $\operatorname{Id}(I)=(0)$.

Proof. We have

$$
\begin{equation*}
[a d(x), x]=0 \tag{2.1}
\end{equation*}
$$

for all $x \in I$. Linearizing above relation, we have

$$
\begin{equation*}
[a d(x), y]+[a d(y), x]=0 \tag{2.2}
\end{equation*}
$$

for all $x, y \in I$. Replacing $y$ with $y x$ in the relation (2), we get

$$
[a d(x), y x]+[\operatorname{ad}(y) x+\operatorname{ayd}(x), x]=0
$$

which gives by (2.1) that

$$
[a d(x), y] x+[a d(y), x] x+[\operatorname{ayd}(x), x]=0
$$

for all $x, y \in I$. By (2.2), it reduces to $[a y d(x), x]=0$ for all $x, y \in I$. Substituting $a y$ for $y$, we get $0=[\operatorname{aayd}(x), x]=a[\operatorname{ayd}(x), x]+[a, x] \operatorname{ayd}(x)=[a, x] \operatorname{ayd}(x)$ for all $x, y \in I$. This implies $[a, x] a R y d(x)=(0)$ for all $x, y \in I$. Since $R$ is prime, for each $x \in I$, either $[a, x] a=0$ or $\operatorname{Id}(x)=(0)$. Since both the cases form additive subgroups of $I$ whose union is $I$, it follows that either $[a, I] a=(0)$ or $\operatorname{Id}(I)=(0)$. Since $0 \neq a,[a, I] a=(0)$ implies $(0)=[a, I] a=[a, R I] a=R[a, I] a+[a, R] I a=$ $[a, R] I a=[a, R] R I a$. Since $R$ is prime, either $a \in Z(R)$ or $I a=(0)$.

## 3. Main Results

Theorem 3.1. Let $R$ be a semiprime ring with center $Z(R)$ and $\lambda$ a nonzero left ideal of $R$. Let $F: R \rightarrow R$ be a multiplicative generalized derivation associated with the derivation $g: R \rightarrow R$. If $F(x y)-F(x) F(y) \in Z(R)$ for all $x, y \in \lambda$, then $\lambda[g(x), x]=(0)$ for all $x \in \lambda$.

In particular, when $\lambda=R$, then either $g=0$ or $R$ contains a nonzero central ideal.

Proof. By our assumption, we have

$$
\begin{equation*}
F(x y)-F(x) F(y) \in Z(R) \tag{3.1}
\end{equation*}
$$

for all $x, y \in \lambda$. Replacing $y$ with $y z$, where $z \in \lambda$, we get

$$
\begin{equation*}
F(x y z)-F(x) F(y z) \in Z(R) \tag{3.2}
\end{equation*}
$$

which implies

$$
\begin{equation*}
F(x y) z+x y g(z)-F(x)\{F(y) z+y g(z)\} \in Z(R) \tag{3.3}
\end{equation*}
$$

that is

$$
\begin{equation*}
(F(x y)-F(x) F(y)) z+(x-F(x)) y g(z) \in Z(R) \tag{3.4}
\end{equation*}
$$

Commuting both sides with $z$, we get

$$
\begin{equation*}
[(F(x y)-F(x) F(y)) z+(x-F(x)) y g(z), z]=0 \tag{3.5}
\end{equation*}
$$

for all $x, y, z \in \lambda$. By the application of (3.1), (3.5) yields

$$
\begin{equation*}
[(x-F(x)) y g(z), z]=0 \tag{3.6}
\end{equation*}
$$

for all $x, y, z \in \lambda$. Now we put $x=x z$, and then obtain that

$$
\begin{equation*}
[(x z-F(x) z-x g(z)) y g(z), z]=0 \tag{3.7}
\end{equation*}
$$

which is

$$
\begin{equation*}
[(x-F(x)) z y g(z), z]-[x g(z) y g(z), z]=0 \tag{3.8}
\end{equation*}
$$

for all $x, y, z \in \lambda$. In (3.6), replacing $y$ with $z y$, we get $[(x-F(x)) z y g(z), z]=0$ for all $x, y, z \in \lambda$, and using this fact (3.8) gives

$$
\begin{equation*}
[x g(z) y g(z), z]=0 \tag{3.9}
\end{equation*}
$$

for all $x, y, z \in \lambda$. Now we put $x=g(z) x$ in (3.9), and then we see that

$$
\begin{gather*}
0=[g(z) x g(z) y g(z), z] \\
=g(z)[x g(z) y g(z), z]+[g(z), z] x g(z) y g(z) \tag{3.10}
\end{gather*}
$$

for all $x, y, z \in \lambda$. As an application of (3.9), (3.10) reduces to

$$
\begin{equation*}
[g(z), z] x g(z) y g(z)=0 \tag{3.11}
\end{equation*}
$$

for all $x, y, z \in \lambda$. Replacing $x$ with $x z$ and $y$ with $z y$ respectively in (3.11), we get

$$
\begin{equation*}
[g(z), z] x z g(z) y g(z)=0 \tag{3.12}
\end{equation*}
$$

and

$$
\begin{equation*}
[g(z), z] x g(z) z y g(z)=0 \tag{3.13}
\end{equation*}
$$

for all $x, y, z \in \lambda$. Subtracting one from another yields

$$
\begin{equation*}
[g(z), z] x[g(z), z] y g(z)=0 \tag{3.14}
\end{equation*}
$$

for all $x, y, z \in \lambda$. Replacing $y$ with $y z$ in (3.14) and right multiplying (3.14) by $z$ respectively and then subtracting one from another yields

$$
\begin{equation*}
[g(z), z] x[g(z), z] y[g(z), z]=0 \tag{3.15}
\end{equation*}
$$

for all $x, y, z \in \lambda$, which implies $(\lambda[g(z), z])^{3}=(0)$ for all $z \in \lambda$. Since $R$ is semiprime, it contains no nonzero nilpotent left ideal, implying $\lambda[g(z), z]=(0)$ for all $z \in \lambda$.

In particular, when $\lambda=R$, then $[g(x), x]=0$ for all $x \in R$. Then by Lemma 2.2 , either $g=0$ or $R$ contains a nonzero central ideal.

Theorem 3.1. Let $R$ be a semiprime ring with center $Z(R)$ and $\lambda$ a nonzero left ideal of $R$. Let $F: R \rightarrow R$ be a multiplicative generalized derivation associated with the derivation $g: R \rightarrow R$. If $F(x y)+F(x) F(y) \in Z(R)$ for all $x, y \in \lambda$, then $\lambda[g(x), x]=0$ for all $x \in \lambda$.

In particular, when $\lambda=R$, then either $g=0$ or $R$ contains a nonzero central ideal.

Proof. If we replace $F$ with $-F$ and $g$ with $-g$ in Theorem 3.1, we conclude that $(-F)(x y)-(-F)(x)(-F)(y) \in Z(R)$ for all $x, y \in \lambda$, implies $\lambda[(-g)(x), x]=(0)$ for all $x \in \lambda$, that is, $F(x y)+F(x) F(y) \in Z(R)$ for all $x, y \in \lambda$, implies $\lambda[g(x), x]=(0)$ for all $x \in \lambda$, as desired.

In particular, when $\lambda=R$, then $[g(x), x]=0$ for all $x \in R$. Then by Lemma 2.2 , either $g=0$ or $R$ contains a nonzero central ideal.

Corollary 3.2. Let $R$ be a prime ring with center $Z(R)$ and $\lambda$ a nonzero left ideal of $R$. Let $F: R \rightarrow R$ be a multiplicative generalized derivation associated with the derivation $g: R \rightarrow R$. If $F(x y) \pm F(x) F(y) \in Z(R)$ for all $x, y \in \lambda$, then one of the following holds:
(1) $g(x)=[b, x]$ for all $x \in R$ and for some $b \in Q$ with $\lambda b=0$. Moreover in this case either $F(\lambda)=0$ or $\lambda( \pm F(y)+y)=0$ for all $y \in \lambda$;
(2) $\lambda[\lambda, \lambda]=0$.

Proof. By Theorem 3.1 and Theorem 3.1, $\lambda[g(x), x]=(0)$ for all $x \in \lambda$. Then by Lemma 2.5, either $g(x)=[b, x]$ for all $x \in R$ and for some $b \in Q$ with $\lambda b=0$ or $\lambda[\lambda, \lambda]=0$. In the first case $\lambda g(\lambda)=0$ and hence $F(x y)=F(x) y+x g(y)=F(x) y$ for all $x, y \in \lambda$. Thus by hypothesis $F(x)(y \pm F(y)) \in Z(R)$ for all $x, y \in \lambda$. Now replacing $y$ with $y z$, where $z \in \lambda$ yields $F(x)(y \pm F(y)) z \in Z(R)$. Since $F(x)(y \pm F(y)) \in Z(R)$, we conclude that either $F(x)(y \pm F(y))=0$ for all $x, y \in \lambda$ or $\lambda \subseteq Z(R)$. Now $\lambda \subseteq Z(R)$ implies $\lambda[\lambda, \lambda]=0$. In case $F(x)(y \pm F(y))=0$ for all $x, y \in \lambda$, then replacing $x$ with $x t$, where $t \in \lambda$ yields $F(x) \lambda(y \pm F(y))=0$ for all $x, y \in \lambda$. This implies either $F(\lambda)=0$ or $\lambda( \pm F(y)+y)=0$ for all $y \in \lambda$.

Theorem 3.3. Let $R$ be a semiprime ring with center $Z(R)$ and $\lambda$ a nonzero left ideal of $R$. Let $F: R \rightarrow R$ be a multiplicative generalized derivation associated with the derivation $g: R \rightarrow R$. If $F(x y)-F(y) F(x) \in Z(R)$ for all $x, y \in \lambda$, then $\lambda x[g(x), x]_{2}=(0)$ for all $x \in \lambda$.

In particular, when $\lambda=R$, then either $g=0$ or $R$ contains a nonzero central ideal.

Proof. We have

$$
\begin{equation*}
F(x y)-F(y) F(x) \in Z(R) \tag{3.16}
\end{equation*}
$$

for all $x, y \in \lambda$. Putting $x=x z$, we have

$$
\begin{equation*}
F(x z y)-F(y)(F(x) z+x g(z)) \in Z(R) \tag{3.17}
\end{equation*}
$$

that is

$$
\begin{equation*}
F(x z y)-F(y) F(x) z-F(y) x g(z) \in Z(R) \tag{3.18}
\end{equation*}
$$

This gives

$$
\begin{equation*}
F(x z y)-F(x y) z+(F(x y)-F(y) F(x)) z-F(y) x g(z) \in Z(R) \tag{3.19}
\end{equation*}
$$

for all $x, y, z \in \lambda$. Commuting both sides with $z$ and using the fact of (3.16), we have from above,

$$
\begin{equation*}
[F(x z y), z]-[F(x y), z] z-[F(y) x g(z), z]=0 \tag{3.20}
\end{equation*}
$$

for all $x, y, z \in \lambda$. Putting $y=y z$ in (3.20), we have

$$
\begin{equation*}
[F(x z y z), z]-[F(x y z), z] z-[(F(y) z+y g(z)) x g(z), z]=0 \tag{3.21}
\end{equation*}
$$

for all $x, y, z \in \lambda$. Putting $x=z x$ in (3.20), we have

$$
\begin{equation*}
[F(z x z y), z]-[F(z x y), z] z-[F(y) z x g(z), z]=0 \tag{3.22}
\end{equation*}
$$

for all $x, y, z \in \lambda$. Subtracting (3.22) from (3.21), we get

$$
\begin{equation*}
[F(x z y z), z]-[F(x y z), z] z-[F(z x z y), z]+[F(z x y), z] z-[y g(z) x g(z), z]=0 \tag{3.23}
\end{equation*}
$$

for all $x, y, z \in \lambda$. Now putting $y=z$ in above, we have

$$
\begin{gather*}
{\left[F\left(x z^{3}\right), z\right]-\left[F\left(x z^{2}\right), z\right] z-\left[F\left(z x z^{2}\right), z\right]+[F(z x z), z] z}  \tag{3.24}\\
-[z g(z) x g(z), z]=0 .
\end{gather*}
$$

Now putting $x=z x$ in (3.24), we get

$$
\begin{gather*}
{\left[F\left(z x z^{3}\right), z\right]-\left[F\left(z x z^{2}\right), z\right] z-\left[F\left(z^{2} x z^{2}\right), z\right]+\left[F\left(z^{2} x z\right), z\right] z}  \tag{3.25}\\
-[z g(z) z x g(z), z]=0
\end{gather*}
$$

for all $x, y, z \in \lambda$. Left multiplying (3.24) by $z$ and then subtracting from (3.25), we get

$$
\begin{equation*}
A(x, y, z)-[z[g(z), z] x g(z), z]=0 \tag{3.26}
\end{equation*}
$$

where

$$
\begin{aligned}
& A(x, y, z)=\left[F\left(z x z^{3}\right), z\right]-\left[F\left(z x z^{2}\right), z\right] z-\left[F\left(z^{2} x z^{2}\right), z\right]+\left[F\left(z^{2} x z\right), z\right] z \\
& \quad-z\left[F\left(x z^{3}\right), z\right]+z\left[F\left(x z^{2}\right), z\right] z+z\left[F\left(z x z^{2}\right), z\right]-z[F(z x z), z] z .
\end{aligned}
$$

We compute

$$
\begin{gathered}
A(x, y, z)=\left[F\left(z x z^{3}\right)-F\left(z x z^{2}\right) z, z\right]-\left[F\left(z^{2} x z^{2}\right)-F\left(z^{2} x z\right) z, z\right] \\
-z\left[F\left(x z^{3}\right)-F\left(x z^{2}\right) z, z\right]+z\left[F\left(z x z^{2}\right)-F(z x z) z, z\right] \\
=\left[z x z^{2} g(z), z\right]-\left[z^{2} x z g(z), z\right]-z\left[x z^{2} g(z), z\right]+z[z x z g(z), z] \\
=0 .
\end{gathered}
$$

Hence (3.26) reduces to

$$
\begin{equation*}
[z[g(z), z] x g(z), z]=0 \tag{3.27}
\end{equation*}
$$

for all $x, z \in \lambda$. Putting $x=x z$ in above we have

$$
\begin{equation*}
[z[g(z), z] x z g(z), z]=0 \tag{3.28}
\end{equation*}
$$

for all $x, z \in \lambda$. Right multiplying (3.27) by $z$ and then subtracting from (3.28), we get

$$
\begin{equation*}
[z[g(z), z] x[g(z), z], z]=0 \tag{3.29}
\end{equation*}
$$

for all $x, z \in \lambda$. This implies

$$
\begin{equation*}
[z[g(z), z] x z[g(z), z], z]=0 . \tag{3.30}
\end{equation*}
$$

Let $f(z)=z[g(z), z]$. Then we have

$$
\begin{equation*}
f(z) x f(z) z-z f(z) x f(z)=0 \tag{3.31}
\end{equation*}
$$

for all $x, z \in \lambda$. In (3.31), replacing $x$ with $x f(z) u$, where $u \in \lambda$, we obtain

$$
\begin{equation*}
f(z) x f(z) u f(z) z-z f(z) x f(z) u f(z)=0 \tag{3.32}
\end{equation*}
$$

for all $x, u, z \in \lambda$. Using (3.31), (3.32) gives

$$
\begin{equation*}
f(z) x z f(z) u f(z)-f(z) x f(z) z u f(z)=0 \tag{3.33}
\end{equation*}
$$

that is

$$
\begin{equation*}
f(z) x[f(z), z] u f(z)=0 \tag{3.34}
\end{equation*}
$$

for all $x, u, z \in \lambda$. This implies $[f(z), z] x[f(z), z] u[f(z), z]=0$ for all $x, u, z \in \lambda$, which is $(\lambda[f(z), z])^{3}=(0)$ for all $z \in \lambda$. Since $R$ is semiprime, we conclude that $\lambda[f(z), z]=(0)$ for all $z \in \lambda$. Hence, $\lambda z[[g(z), z], z]=(0)$ for all $z \in \lambda$.

In particular, when $\lambda=R$, then $x[[g(x), x], x]=0$ for all $x \in R$. Then by Lemma 2.6 and by Lemma 2.2, either $g=0$ or $R$ contains a nonzero central ideal.

Theorem 3.4. Let $R$ be a semiprime ring with center $Z(R)$ and $\lambda$ a nonzero left ideal of $R$. Let $F: R \rightarrow R$ be a multiplicative generalized derivation associated with the derivation $g: R \rightarrow R$. If $F(x y)+F(y) F(x) \in Z(R)$ for all $x, y \in \lambda$, then $\lambda x[g(x), x]_{2}=(0)$ for all $x \in \lambda$.

In particular, when $\lambda=R$, then either $g=0$ or $R$ contains a nonzero central ideal.

Proof. If we replace $F$ with $-F$ and $g$ with $-g$ in Theorem 3.3, we conclude that $(-F)(x y)-(-F)(y)(-F)(x) \in Z(R)$ for all $x, y \in \lambda$, implies $\lambda x[(-g)(x), x]_{2}=$ (0) for all $x \in \lambda$, that is, $F(x y)+F(x) F(y) \in Z(R)$ for all $x, y \in \lambda$, implies $\lambda x[g(x), x]_{2}=(0)$ for all $x \in \lambda$, as desired.

In particular, when $\lambda=R$, then $x[[g(x), x], x]=0$ for all $x \in R$. Then by Lemma 2.6 and by Lemma 2.2, either $g=0$ or $R$ contains a nonzero central ideal.

Corollary 3.5. Let $R$ be a prime ring with center $Z(R)$. Let $F: R \rightarrow R$ be $a$ multiplicative generalized derivation of $R$ associated with the derivation $g: R \rightarrow R$. If $F(x y) \pm F(y) F(x) \in Z(R)$ for all $x, y \in R$, then one of the following holds:
(1) $\lambda[F(\lambda), \lambda]=0$;
(2) $\lambda[\lambda, \lambda]=0$.

Proof. By Theorem 3.3 and Theorem 3.4, we have $\lambda[g(x), x]_{2}=(0)$ for all $x \in \lambda$. Then by Lemma 2.5, either $g(x)=[b, x]$ for all $x \in R$ and for some $b \in Q$ with $\lambda b=0$ or $\lambda[\lambda, \lambda]=0$. In the first case $\lambda g(\lambda)=0$ and hence $F(x y)=F(x) y+$ $x g(y)=F(x) y$ for all $x, y \in \lambda$.

Thus by hypothesis $F(x) y \pm F(y) F(x) \in Z(R)$ for all $x, y \in \lambda$. Now replacing $y$ with $y z$, where $z \in \lambda$ yields $(F(x) y \pm F(y) F(x)) z \mp F(y) F(x) z \pm F(y) z F(x) \in Z(R)$. Commuting both sides with $z$ yields

$$
[(F(x) y \pm F(y) F(x)) z, z]+[\mp F(y) F(x) z \pm F(y) z F(x), z]=0
$$

Since $F(x) y \pm F(y) F(x) \in Z(R)$, above relation yields $[F(y)[F(x), z], z]=0$ for all $x, y, z \in \lambda$. Then by Lemma 2.7, $\lambda[F(\lambda), \lambda]=0$.

Theorem 3.6. Let $R$ be a semiprime ring with center $Z(R)$ and $\lambda$ a nonzero left ideal of $R$. Let $F: R \rightarrow R$ be a multiplicative generalized derivation associated with the derivation $g: R \rightarrow R$. If $F(x y)-g(y) F(x) \in Z(R)$ for all $x, y \in \lambda$, then $\lambda[g(x), x]_{2}=(0)$ for all $x \in \lambda$.

In particular, when $\lambda=R$, then either $g=0$ or $R$ contains a nonzero central ideal.

Proof. We have

$$
\begin{equation*}
F(x y)-g(y) F(x) \in Z(R) \tag{3.35}
\end{equation*}
$$

for all $x, y \in \lambda$. Putting $x=x z$, we have

$$
\begin{equation*}
F(x z y)-g(y)(F(x) z+x g(z)) \in Z(R) \tag{3.36}
\end{equation*}
$$

that is

$$
\begin{equation*}
F(x z y)-F(x y) z+(F(x y)-g(y) F(x)) z-g(y) x g(z) \in Z(R) \tag{3.37}
\end{equation*}
$$

for all $x, y, z \in \lambda$. Since $F(x y)-g(y) F(x) \in Z(R)$, commuting both sides with $z$, we have

$$
\begin{equation*}
[F(x z y)-F(x y) z-g(y) x g(z), z]=0 \tag{3.38}
\end{equation*}
$$

for all $x, y, z \in \lambda$. In particular, for $y=z$,

$$
\begin{equation*}
[x z g(z)-g(z) x g(z), z]=0 \tag{3.39}
\end{equation*}
$$

for all $x, y, z \in \lambda$. Replacing $x$ with $z x$, we obtain

$$
\begin{equation*}
[z x z g(z)-g(z) z x g(z), z]=0 \tag{3.40}
\end{equation*}
$$

for all $x, y, z \in \lambda$. Left multiplying by $z$ in (3.39) and then subtracting from (3.40), we obtain

$$
\begin{equation*}
[[g(z), z] x g(z), z]=0 \tag{3.41}
\end{equation*}
$$

for all $x, y, z \in \lambda$. Replacing $x$ with $x z$ in above relation, we have

$$
\begin{equation*}
[[g(z), z] x z g(z), z]=0 \tag{3.42}
\end{equation*}
$$

for all $x, y, z \in \lambda$. Right multiplying by $z$ in (3.41) and then subtracting from (3.42), we obtain that

$$
\begin{equation*}
[[g(z), z] x[g(z), z], z]=0 \tag{3.43}
\end{equation*}
$$

for all $x, y, z \in \lambda$. This can be re-written as

$$
\begin{equation*}
[g(z), z] x[g(z), z] z-z[g(z), z] x[g(z), z]=0 \tag{3.44}
\end{equation*}
$$

for all $x, z \in \lambda$. In (3.44), replacing $x$ with $x[g(z), z] u$, where $u \in \lambda$, we obtain

$$
\begin{equation*}
[g(z), z] x[g(z), z] u[g(z), z] z-z[g(z), z] x[g(z), z] u[g(z), z]=0 \tag{3.45}
\end{equation*}
$$

for all $x, u, z \in \lambda$. Using (3.44), (3.45) gives

$$
\begin{equation*}
[g(z), z] x z[g(z), z] u[g(z), z]-[g(z), z] x[g(z), z] z u[g(z), z]=0 \tag{3.46}
\end{equation*}
$$

that is

$$
\begin{equation*}
[g(z), z] x[[g(z), z], z] u[g(z), z]=0 \tag{3.47}
\end{equation*}
$$

for all $x, u, z \in \lambda$. This implies $[g(z), z]_{2} x[g(z), z]_{2} u[g(z), z]_{2}=0$ for all $x, u, z \in \lambda$, which is $\left(\lambda[g(z), z]_{2}\right)^{3}=(0)$ for all $z \in \lambda$. Since $R$ is semiprime, we conclude that $\lambda[g(z), z]_{2}=(0)$ for all $z \in \lambda$.

In particular, when $\lambda=R$, then $[g(x), x]_{2}=0$ for all $x \in R$. Then by Lemma 2.6 and by Lemma 2.2, either $g=0$ or $R$ contains a nonzero central ideal.

Corollary 3.7. Let $R$ be a prime ring with center $Z(R)$. Let $F: R \rightarrow R$ be a multiplicative generalized derivation of $R$ associated with the nonzero derivation $g: R \rightarrow R$. If any one of the following holds:
(i) $F(x y)+F(x) F(y) \in Z(R)$ for all $x, y \in R$,
(ii) $F(x y)-F(x) F(y) \in Z(R)$ for all $x, y \in R$,
(iii) $F(x y)+F(y) F(x) \in Z(R)$ for all $x, y \in R$,
(iv) $F(x y)-F(y) F(x) \in Z(R)$ for all $x, y \in R$,
(v) $F(x y)-g(y) F(x) \in Z(R)$ for all $x, y \in R$,
then $R$ must be commutative.
Example 1.2 Let $R=\left\{\left.\left(\begin{array}{ccc}0 & a & b \\ 0 & 0 & c \\ 0 & 0 & 0\end{array}\right) \right\rvert\, a, b, c \in \mathbb{Z}\right\}$, where $\mathbb{Z}$ is the set of all integers. Since $\left(\begin{array}{lll}0 & 1 & 1 \\ 0 & 0 & 0 \\ 0 & 0 & 0\end{array}\right) R\left(\begin{array}{lll}0 & 1 & 0 \\ 0 & 0 & 0 \\ 0 & 0 & 0\end{array}\right)=(0)$, so $R$ is not prime ring. Define
the mappings $d$ and $F: R \longrightarrow R$ as follows: $d\left(\begin{array}{ccc}0 & a & b \\ 0 & 0 & c \\ 0 & 0 & 0\end{array}\right)=\left(\begin{array}{ccc}0 & 0 & b \\ 0 & 0 & c \\ 0 & 0 & 0\end{array}\right)$ and $F\left(\begin{array}{ccc}0 & a & b \\ 0 & 0 & c \\ 0 & 0 & 0\end{array}\right)=\left(\begin{array}{ccc}0 & -a & 0 \\ 0 & 0 & c^{2} \\ 0 & 0 & 0\end{array}\right)$. Then it is straightforward to verify that $d$ is a derivation in $R$ such that $F(x y)=F(x) y+x d(y)$ holds for all $x, y \in R$. Since $F$ is not additive map, $F$ is a multiplicative generalized derivation on $R$. Note that $F(x y) \pm F(x) F(y) \in Z(R), F(x y) \pm F(y) F(x) \in Z(R)$ and $F(x y)-d(y) F(x) \in Z(R)$ for all $x, y \in R$. Since $R$ is noncommutative, the primeness hypothesis in Corollary 3.7 is essential.

## References

1. E. Albas, Generalized derivations on ideals of prime rings, Miskolc Mathematical Notes, 14 (1) (2013), 3-9.
2. A. Ali, N. Rehman and S. Ali, On Lie ideals with derivations as homomorphisms and antihomomorphisms, Acta Math. Hungar 101 (1-2) (2003), 79-82.
3. H. E. Bell and L. C. Kappe, Rings in which derivations satisfy certain algebraic conditions, Acta Math. Hungar 53 (1989), 339-346.
4. H. E. Bell and W. S. Martindale III, Centralizing mappings of semiprime rings, Canad. Math. Bull. 30 (1) (1987), 92-101.
5. M. Brešar, On the distance of the composition of two derivations to the generalized derivations, Glasgow Math. J. 33 (1991), 89-93.
6. M. N. Daif and H. E. Bell, Remarks on derivations on semiprime rings, Internat. J. Math. \& Math. Sci. 15 (1) (1992), 205-206.
7. M. N. Daif, Commutativity results for semiprime rings with derivations, Internt. J. Math. \& Math. Sci. 21 (3) (1998), 471-474.
8. M. N. Daif and M. S. Tammam El-Sayiad, Multiplicative generalized derivations which are additive, East-West J. Math. 9(1) (1997), 31-37.
9. M. N. Daif, When is a multiplicative derivation additive, Internat. J. Math. \& Math. Sci. 14(3) (1991), 615-618.
10. B. Dhara, S. Kar and D. Das, On annihilating condition in prime rings with generalized derivations, Journal of Advances in Algebra 8 (1) (2015), 13-23.
11. B. Dhara, S. Kar and K. G. Pradhan, Generalized derivations acting as homomorphism or anti-homomorphism with central values in semiprime rings, Miskolc Mathematical Notes 16 (2) (2015), 781-791.
12. B. Dhara, Generalized derivations acting as a homomorphism or anti-homomorphism in semiprime rings, Beitr. Algebra Geom. 53 (2012), 203-209.
13. B. Dhara and S. Ali, On $n$-centralizing generalized derivations in semiprime rings with applications to $C^{*}$-algebras, J. Algebra and its Applications 11 (6) (2012), Paper No. 1250111, 11 pages.
14. I. N. Herstein, Rings with involution, The University of Chicago Press, Chicago, 1976.
15. T. K. Lee and W. K. Shiue, A result on derivations with Engel conditions in prime rings, Southeast Asian Bull. Math. 23 (1999), 437-446.
16. W. S. Martindale III, When are multiplicative mappings additive, Proc. Amer. Math. Soc. 21 (1969), 695-698.
17. N. Rehman, On generalized derivations as homomorphisms and anti-homomorphisms, Glasnik Mate. 39 (59) (2004), 27-30.

Basudeb Dhara, Department of Mathematics, Belda College, Belda, Paschim Medinipur, 721424, W.B. India.
E-mail address: basu_dhara@yahoo.com
and
Muzibur Rahman Mozumder, Department of Mathematics,
Aligarh Muslim University, Aligarh-202002, India.
E-mail address: muzibamu81@gmail.com


[^0]:    * The first author is supported by a grant from University Grant Commission, INDIA. The Grant No. is PSW-131/14-15 (ERO), dated 03.02.2015. The second author is supported by UGC start up grant. The Grant No. is F.30-90/2015(BSR)

    2010 Mathematics Subject Classification: 16W25, 16R50, 16N60.
    Submitted February 02, 2016. Published April 30, 2016

